MIND MAP : LEARNING MADE SIMPLE

Ay = sin”'x. Domain = [-1,1], Range =[—g,g}
(ii) y = cos'x. Domain = [-1,1] Range = [0, 1]
(iif) y = cosec”'x. Domain = R—(-1,1), Range = [—

(iv) y = sec’'x. Domain = R—(-1,1), Range = [0, 7] _{E}
(v) y = tan"x. Domain = R, Range = (_g’ g}
(vi) y = cot’x. Domain = R, Range = (0, n).

gome important re[y thnS

(i) y = sin"x = x = siny (i) x = siny =y = sin"'x

(iii) sin(sin'x) = x (iv) sin”'(sinx) = x

(v) sin” > =cosec 'x (vi) cos™ (—x) = m—cos'x

1 e ;
(vii) cos’1; =sec'x (viii) cot'(-x) = 1 — cot'x

1 = 5
(ix) tan™' > =cot'x (x) sec'(—x) = m —sec 'x

(xi) sin”(—x) = —sin"'x (xii) tan™'(-x) = — tan'x
- - s T
(xiii) tan™x + cot™x ) (xiv) cosec™x + sec'x = )
X+ 2x
(xv) tan"x + tan'y = tan™ 0 xyy (xvi) 2 tan"'x = tan”' 7
- -x
o = = 4 XY 2x 1+x
(xvii) tan"x — tan"y = tan" == (xviii) 2 tan 'x=sin"' ——5=cos"
1+xy (vild) 1+ x2 1- 22
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For eg : to find the principal value of sin™' | — | let sin™' (—] =1y,
¢ P (ﬁj )"
=siny = N/ The range or the principal value branch of sin™ is —g,gj
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So, the principal value of sin™ (Lj is g
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and sin — =
4

CHAPTER - 2

(I) sin : R — [-1,1]

(i) cos : R — [-1,1]

(ii) tan : R—{x x=(2n+ 1)gin c z} SR
(iv) cot: R—{x:x = hm,neZ}— R

(v) sec: R — {x:x:(2n+l)g,n c Z}—)R—(—l,l)
(vi) cosec: R—A{x:x = hn,neZ}— R —(-1,1)
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The range of an inverse
trigonometric function
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value branch is called the (=]

principal value of that inverse

trigonometric functions.




